Sample Paper - 2008

Class – X

 Subject – Mathematics
SET - 2
Pair of Linear Equations in two variables
	1
	On selling a tea set at 5% loss and a lemon set at 15% gain, a crockery seller gained Rs. 7.0 If he sells the tea set at 5% gain and the lemon set at 10% gain, the gain  is Rs 13. Find the actual price o​​​​f the tea set and the lemon set.
	

	2
	A man sold a chair and a table together for Rs 1520 .There is a profit of 25% on the chair and 10% on table. By selling them together for Rs 1535, he could have made a profit of 10% on the chair and 25% on the table. Find the cost price of each.
	

	3
	A man has only 20 paise and 25 paise coins in his purse. If he has 50 coins in all totaling Rs 11.25 How many coins of each does he have? 
	

	4
	A system of simultaneous linear equation is said to be consistent, if it has __________ solution.
​​
	

	5
	If a pair of values x, y satisfies an equation, then x and y are called _____ of equation.
	

	6
	A system of simultaneous linear equation is said to be ________ if it has no solution.
	

	7
	If [image: image1.png]


 , Then [image: image2.png]ax+hy+e = 0&a,x+byy+eo,=



 will represent ______line


	

	8
	If [image: image3.png]ax+hy+e = 0&a,x+byy+eo,=



 then what will be the condition of consistency of infinite many solution ?
	

	9
	Solve the given Equation by using the method of substitution.    
[image: image4.png]2x+3y=9






	

	10
	Solve: 

 (a)         [image: image5.png]217x+131y =913



          ..(i)
              [image: image6.png]131x+217y =827




          ..(ii) 
 

(b)          For what value of [image: image7.png]


 the system of Equation
[image: image8.png]Ix+5y=0
ux+10y

has unique solution





	

	11
	The sum of a two - digit number and the number obtained by reversing the digits is 66. If the digits of the number differ by 2, find the number. How many such numbers are there? 
	

	12
	In [image: image9.png]AABC, LC=34B=2(LA+4LB).



Find the three angles. 
	20,40,120

	13
	The taxi charges in a city comprise of a fixed charge together with the charge for the distance covered. For a journey for 10km the charge paid is Rs 75 and for a journey of 15 km the charge paid Rs 110. What will a person have to pay for traveling a distance of 25km.
	 Rs. 180

	14
	Solve:

[image: image10.wmf]5163
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	4, 5
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	15
	A boat goes 30km upstream and 44km downstream is 10hrs. In 13 hrs  it go 40km upstream and 55 km downstream. Determine the speed of the stream and that of boat in still water. 
	

	16
	If [image: image11.png]


 then what will be the condition of [image: image12.png]ax+hy+e = 0&a,x+byy+eo,=



  ?
	

	17
	Sum of two numbers in 48 and their difference is 20. Find the numbers.
	

	18

	Represent the following situations algebraically and graphically.  
	

	a.
	Romila went to a stationary shop and purchased 2 pencils and 3 erasers for 

Rs 9. Her friend Sonali saw the new variety of pencils and erasers with Romila, and she also bought 4 pencils and 6 erasers of the same kind for Rs. 18. 
	2x+3y=9

4x+6y=18

	b.
	Two rails are represented by the equations x+2y-4=0 and 2x+4y-12=0. Represent this situation geometrically.
	

	c.
	Aftab tells his daughter, “7 years ago, I was 7 times as old as you were then. Also, 3 years from now, I shall be 3 times as old as you will be.” 
	x-7y+42=0

x-3y-6=0

	d.
	The coach of a cricket team buys 3 bats and 6 balls for Rs. 3900. Later, she buys another bat and two more balls of the same kind for Rs. 1300.  
	X+2y=1300

X+3y=1300

	e.
	The cost 2 kg of apples and 1 kg of grapes on a day was found to be Rs.160.After a month, the cost of 4 kg of apples and 2 kg of grapes is Rs. 300. 
	2x+y=160

4x+2y=300

	f.
	Akhila went to a fair in a village. She wanted to enjoy rides on the Giant Wheel and play Hoopla. The number of times she played Hoopla is half the number of rides she had on the Giant Wheel. Each ride cost Rs. 3, and a game of Hoopla cost Rs. 4. If she spend Rs. 20 in the fair.    
	x-2y=0

3x+4y=20

	19.


	Find the solution of the following problems graphically:
	

	a.
	Champa went to a shop to purchase some pants and skirts. When her friends asked her how many of each she had bought, she answered, “the number of skirts is 2 less than twice the number of pants purchased. Also, the number of skirts is 4 less than 4 times the number of pants purchased.” Help her friends to find how many pants and skirts Champa bought. Represent this situation algebraically and graphically.
	y=2x-2

y=4x-4

1, 0

	b.
	10 students of class X took part in Mathematics Quiz. If the number of girls is 4 more than the number of boys, find the number of boys and girls who took part in the quiz.
	3, 7

	c.
	5 pencils and 7 pen together cost Rs. 50, where as 7 pencils and 5 pens together cost Rs.46. Find the cost of one pencil and that of one pen. 
	3, 5

	
	Word Problems:
	

	20. a.
	The difference between two numbers is 26 and one number is three times the other. Find them. 
	39, 13

	b.
	The larger of two supplementary angles exceeds the smaller by 180. Find them. 
	990, 810

	21. a.
	The coach of a cricket team buys 7 bats and 6 balls for Rs3800. Later, she buys 3 bats and 5balls for Rs1750. Find the cost of each bat and each ball.
	Rs. 500

Rs. 50

	b.
	4 chairs  and 3 tables costs Rs. 1800 and 5 chairs and 2 tables cost Rs. 1700. Find the cost of a chair and a table separately.
	Rs. 150

Rs. 500

	c.
	5 pens and 6 pencil together cost Rs. 9 and 3 pens and 2 pencil cost Rs. 5. Find the cost of 1 pen and 1 pencil. 
	Rs. 1.50

Rs. 0.25

	d.
	7 audio cassettes 3 video cassettes cost Rs 1100, while 5 audio cassettes and 4 video cassettes cost Rs. 1350. Find the cost of an audio cassette and a video cassette. 
	Rs. 30

Rs. 300

	e.
	2 tables and 3 chairs together cost Rs. 2000 where as 3 tables and 2 chairs together cost Rs. 2500. find the total cost of one table and 5 chairs. 
	Rs. 700

Rs. 200
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	21. e
	The taxi charges in a city consist of a fixed charged together with the charge for the distanced covered. For a distance of 10 km, the charged paid is Rs 105 and for a journey of 15 km, the charged paid is Rs.155. What are the fixed charges and the charge per km? How much does a person have to pay for traveling a distance of 25 km?
	Rs. 5

Rs. 10

Rs. 255



	22 a.
	A fraction becomes 9/11, If 2 added to both the numerator and denominator. If 3 is added to both the numerator and denominator it becomes 5/6. Find the fraction.
	7/9

	b.
	A fraction becomes 4/5, If 1 added to both the numerator and denominator. If 5 is subtracted from both the numerator and denominator, it becomes 1/2. Find the fraction.
	7/9

	c.
	A fraction becomes 1/3, If 1 subtracted from both the numerator and denominator. If 1 is added to both the numerator and denominator, it becomes 1/2. Find the fraction.
	3/7

	23. a.
	5 years hence, the age of Jacob will be 3 times that of his son. 5 years ago, Jacob’s was 7 times that of his son. What are their present ages? 
	  40, 10

	b.
	A father is 3 times as old as his son. After 12 years, his age will be twice as that of his son. Find their present ages.
	36, 12

	c.
	The age of two friends Ani and Biju differ by 3 years. Ani’s father Dharam is twice as old as Ani and Biju is twice as old his sister Cathy. The age of Chathy and Dharam differ by 30 years. Find the ages of Ani and Biju. 
	19 or 21

16 or 24

	24. a.
	One says, “Give me a hundred, friend! I shall then become twice as rich as you”. The other replies, “If you give me 10, I shall be six time as rich as you”. Tell me what is the amount of their capital?
	Rs.40, Rs.170

	b.
	A and B each have certain nmber of oranges. A says to B, “if you give me 10 of your oranges, I will have twice the number of oranges left with you.” B replies, “ you give me 10 of your oranges, I will have the same number of oranges as left with you.” Find the number of oranges with A and B separately.
	70, 50

	c
	A and B each has some money. If A gives Rs. 30 to B, then B will have twice the money left with A. But, if B gives Rs. 10 to A , then A will have thrice as much as is left with B. How much money does each have?  
	Rs.62, Rs.34

	25. a. 
	In a cyclic quadrilateral ABCD, 
[image: image13.wmf]Ð

A = (2x + 4)0, 
[image: image14.wmf]Ð

B = (y + 3)0, 


[image: image15.wmf]Ð

C = (2y + 10)0, 
[image: image16.wmf]Ð

D = (4x - 5)0. Find the four angles.
	700, 530, 1100, 1270

	b.
	In a cyclic quadrilateral ABCD, 
[image: image17.wmf]Ð

A = (-7x + 5)0, 
[image: image18.wmf]Ð

B = (3y - 5)0, 


[image: image19.wmf]Ð

C = (4y + 20)0, 
[image: image20.wmf]Ð

D = -4x0. Find the four angles.
	1200, 700, 600, 1100

	c.
	In a cyclic quadrilateral ABCD, 
[image: image21.wmf]Ð

A = (2x - 1)0, 
[image: image22.wmf]Ð

B = (y + 5)0, 


[image: image23.wmf]Ð

C = (2y + 15)0, 
[image: image24.wmf]Ð

D = (4x – 7)0. Find the four angles.
	650, 550, 1150, 1250 

	26. a.
	In a triangle ABC, 
[image: image25.wmf]Ð

A = x0, 
[image: image26.wmf]Ð

B = (3x - 2)0, 
[image: image27.wmf]Ð

C = y0. Also, 
[image: image28.wmf]Ð

C - 
[image: image29.wmf]Ð

B = 90. Find the three angles.
	250, 730, 820

	b.
	In a triangle ABC, 
[image: image30.wmf]Ð

A = x0, 
[image: image31.wmf]Ð

B = 3x0, 
[image: image32.wmf]Ð

C = y0. If 3y – 5x = 30, Prove that the triangle is right angled.
	

	27. 
	Solve the following:
	

	a.
	(a - b)x + (a + b)y = a2 – 2ab – b2  ,   (a + b)(x + y) = a2 + b2
	X = 1,

 y =  - 1

	b.
	
[image: image33.wmf]0,

xy
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ax + by = a2 + b2
	X = a,

 y =  b

	c.
	
[image: image34.wmf]102155
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	X = 3

 y = 2

	d.
	6x + 3y = 6xy,        2x + 4y = 5xy
	X = 1, y= 2

	e.
	
[image: image35.wmf]2349
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	X = 4,

 y = 9
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